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Basic Instructions:

i.  Ensure that your personal data has been entered correctly.

ii. Immediately after opening the test booklet verify that all the pages are printed properly and are in
order. If there is a problem with your test booklet, immediately inform the invigilator. You will provided
with the replacement.

iii. All questions in are compulsory.

iv. For every correct answer you will be awarded with 4 marks and for all incorrect answer 1 mark will be
deducted.

v.  Directions for answering the questions are given. Read those directions carefully
and answer the question by circling the bubble in the OMR Sheet Provided to you. Test booklet/OMR
Sheet will be submitted at the end of the examination.

vi. Follow the instructions given by the invigilator. Students found violating the instructions will be
disqualified.

vii. Rough work can be done separately or on the Question paper.

viii. Please fill the bubbles in OMR sheet with Blue or Black pen only.

ix. Do not tear the question paper or OMR sheet else you will be disqualified in the examination.




CLASS-7 MATHEMATICS

1. The productoftwointegersis —144 and sum of the integers is —7. Find the smallest number.
(A) 10 (B) —10 (C) —16 (D) 16

2. Productof multiplicative inverse and additive inverse of 5 is
(A) 1 (B) -1 (C) -5 (D) 5

3. Walking % th of its usual speed, a trainis 10 minutes late. Find the usual time to cover the journey.
(A) 60 minutes (B) 50 minutes (C) 40 minutes (D) 30 minutes

4. Which of the following integers has most number of divisors?
(A) 176 (B) 182 (C) 99 (D) 101

5. The smallest number which must be added to 1780 to make it a perfect square is
(A) 69 (B) 156 (C) 149 (D) 59

6. Whatdecimal of an houris asecond?
(A) 0.0025 (B) 0.0256 (C) 0.00027 (D) 0.000126

7. Apianoteacherhas 4 ;— hours available to teach in a night. Each lesson will last to 1 ;— hours. How many lessons can
the teacher schedule in a night?

) 21? (B) 2 (C) 4 (D) 3
8. Findth m f1+1+i+i+i+_1+_1+71+i+*14_%1
- Findthesumot 5+ 895 "20 '30 42 56 72 90 110 132"
A)718 B 1 > A o) 17
(A) (B) - (C) o (D) -
1
g, 01+075 (o.125+«)
2.5+0.05 48
") 5 (B) 4 ) 3 (D) 1
2 2 2
o0 (0.55)2 +(0.07) 2+(o.027) »
(0.055)” +(0.007)* +(0.0027)
(A) 100 (B) 10 (C) 1000 (D) 1

11. One seventh of a number is same as increased of one eight of that number by 3. Find the number.
(A) 165 (B) 168 (C) 158 (D) 169

12. Ram’s grandfather’s age is 65 and 23 more than three times more than Ram’s age. Find Ram’s age.
(A) 15 (B) 13 (C) 14 (D) 12

13. In a class, there are total 90 students. Commerce students are twice the arts of students & science students are thrice
the commerce students. Then, arts, commerce and science students in the ratio respectively are
(A) 2:1:6 (B) 6:2:1 (C) 3:6:9 (D) 1:2:6

14. Some people go for picnic at a river and hills. They made a camp there. One fourth of people stay at camp while one fifth
of people go to hilland remaining to the river which were in number of 55. Find the number of people.
(A) 90 (B) 95 (C) 100 (D) 110

15. Anumber has three digits. The unit and tenth digit is thrice the hundredth digit. If number is reversed, then itis 396 more
than original number. What is the number?
(A) 266 (B) 132 (C) 264 (D) 386

16. Inthe given figure, [, || [, and transversal x intersects [,at [, points M and N respectively. MO and NO bisects angle AMN
and angle BNM respectively such that Z/OMN : ZONMis 2: 1, thenangle MNB is
(A) 60°
(B) 120°
(C) 30°
(D) 50°
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17. Whatis the value of Cifa:bis2: 1 and aand b are supplementary angles? g8 da f b
(A)30° PP yand IS A "
(B)60° LSS
(C)120° af /S m
(D)45° N ’

18. Inthe given figure, if PAQ is parallel to BC and angles of AABC areinthe ratioof 2: 1 : 3, then value of xis
(A) 30° x v
(B) 60°
(C) 15°
(D) 45° B c

19. Inthe given figure, AB || CD and transversal CE intersects AB and CD respectively at points B and C. BF || CH such that
/FBC=/HCD =30°, then value of ZABE is
(A) 120°
(B) 30°
(C) 150°
(D) 60°

20. Ifthe supplementary of an angle is seven times of its complementary angle, then the angle is
(A) 75° (B) 60° (C) 80° (D) 120°

21. Inarightangled triangle, if one acute angle is half the other, then the smallest angle is
(A) 15° (B) 25° (C) 30° (D) 35°

22. InaAABC, ZA= «C.IfBC =3 and AC =4, then the perimeter of the triangle formed by joining mid points of the sides of
AABCis

(A) 3.5 B) 5 (C) 6 (D) 7
23. IfAABC isrightangled at B, then
(A) AB=AC (B) AC<AB (C) AB=BC (D) AC>AB
24. Inthe givenfigure, AD is the median, then Z/BAD is A
(A)55°
(B)50°
(C)100°
(D)40° s 4 c
D
25. Pisapointon side BC of AABC such that AP bisects Z/BAC, then
(A) BP=CP (B) BA>BP (C) BP>BA (D) cannotbe determined
26. Inthe givenfigure, AP and BQ are perpendicular to AB and AP = BQ. IfAO =6 m, then find OB. Q
(A)8m
(B)10m B
(C)6m 4 o
(D)11m
P

27. Inthe given figure, ABC and DBC are two isosceles triangle on the
same base BC suchthatAB=AC and DB =DC. If ZABD =120°, then find Z/ACD.
(A) 100°
(B) 60° B o]
(C) 140°
120°
(D) o
28. InAABC, ifAB=AC and BC is produced to D such that /ACD =100°, then ZA="?
(A) 20° (B) 40° (C) 60° (D) 80°

29. Inisosceles triangle, if vertex angle is twice the sum of base angle, then the measure of vertex angle is
(A) 100° (B) 120° (C) 110° (D) 130°

30. Which of the following is not a criterion for congruence of triangle?
(A) SAS (B) SSA (C) ASA (D) SSS

31. Which of the following is / are true?

A) f f |san|rrat|onalnumber (B) |sarat|0na|number
th (A)and (B (D) Nei her ) nor (

32. Ifa (- 12°°9andb ( 1)*", then find the value of ab.
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(A) 1 (B) —1 (C) 2009 (D) 2010

33.
125 _ (25 _
216 36 T
)

34.The ﬁ)llowing are the steps involved in finding the positive value of x from the equation x* = 12.96. Arrange them in
sequential order from the first to the last.

B) (C) 0 (D) 1

(@) x*= (36)2 (b) .. X=3.6 (C) X'=12.96= 4595  (d) x=§

(A) cdab 10° (B) cabd (C) cadb 100 (D) cdbk0
35. Ifp=(-1)"and q=(-1)"* thenp+qis

(A) (1) (B) (-1) () 0 (D) None ofthese
36. Thevalueof (a—1)(a°—2a+1)is

(A) (@a-1) (B) (a-1y’ (C) a-1) (D) 1
37. The degree of xyzis

(A) 1 (B) 2 (€) 3 (D) 4
38. Ifx+ =4, then the value of 4x° + | i

(A) 6 (B) 64 (C) 62 (D) 63
39.If2x+ , =86, thenthe value of O + 4 s

(A) 753x (B) B¢ ©) 77 (D) 78
40. Square root of 3°*(36) (16)°is ,

(A) 36n 62a22b (B) 36n6a4b (C) 33n 632b (D) 36n6a42b
41.2°=3"=6", then1 ot is equal to

(A) 1 XY Z B)o0 (c) -1 (D) None ofthese
42.2*Y=128 and 4’ =16, and then find y

A 5 ®) § © o 0) 5
43.1fa=37-27), b=(2°-2*)andc= (2~ 27 thenthe value ofa’ + B’ + ¢ is e

(A) - 9 B) - ¢ () o (D) 1

1024 2048

1 (p-q) 1 p+q
44. Simplify: [p+q] [p—q]
o] ()
q+—| |a-—
p p
(A) (p¥* (B) (qV © (pY
) H )

45, (a° +bo)(ao_bo) o* (wherea 0,andb 0)is
S

# #

(A) 0 B) 1 () -1 (D) Notdefined
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